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LO: To subtract fractions by br% the whole .
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| can subtract fractions by breaking the whote
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break up a mixed numher.
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3 7 1
D Work out 5*20°0
2) Add l d l
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3) Werite — as a mixed number.
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Yy) Add together 724 and 879
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3) Write g s @ mixed number. [

4)  Addtogether 724 and 879 |
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{I don’t think it’s possible to calculate




We need to subtroct 5 parts of the bar model.




We can see that we have pa,rtLi:LonQ,d the fractton.

1/

NN/

3 5 3 3
2___ A
12 12 2 =

12 12

/ \

3 2 2

12 12 12

We have bhroken up one of the mixed numhbers!



These fractions need the same denominator
Remind me|how-to convert|these froctions.
1_ 7 _
5 10




What can we P,artLtLon this fracti,on in to?

1%— 110= Haveathinkm




FLrstLy, convert the fra,cti,onsl

1 6 6
A)27_ﬁ_ B)27———

Which calculation will break the whole?

?
How do you know* Have a think m




o Complete the subtractions. ° Here ore some ingredients.

Use bar models to help you.

b) At what point did the answer break the whole? Why?

<) Which calculations will breok the whole?

win
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© complete the subtractions.
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Potatoes Cheese Carrots

a) How much more do the carrots weigh than the cheese?

17
b) Jﬂdl-uiﬁ

How many kilograms of carrots does he hove left?

kg of carrots.

©) Jock uses all the cheese and the same amount of pototoes.
How much do the leftover potatoes weigh?

Eva is doing the long jump.

5 Bs:

rain
Book
Boart

Budd

Boss

Onhefmat\emmiums%m. Extension G'Ctl-‘flt\lj

Her 2nd attempt is 2 m shorter than her first.

3 Place 2, 3 and 4 in the boxes to make

How far does Eva jump on her 2nd attempt? the calculation correct.

1 O
276 k=
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3 chile

They
follow

Dora

Alex




Dexter watches television for 3 %
\ hours during a weekend.

Dexter. 15

For how long does Dora watch television on
Sunday?

Dora watches E fewer hours than

Dora watches 1 hour of television on Saturday.
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What can we po,rtLtLon the fracti,on in to?



On whitehoords, draw- a har model with 15 Q,q,ual parts.
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6 7
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Dexter

13
15

Dora

8
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15

Dora watches 1 hour of television on Saturday.

For how long does Dora watch television on
Sunday?

3
21—5— 1=



o Complete the subtractions. ° Here ore some ingredients.

Use bar models to help you.

b) At what point did the answer break the whole? Why?

<) Which calculations will breok the whole?

win
G|~

wi|n

© complete the subtractions.

Py}
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Potatoes Cheese Carrots

a) How much more do the carrots weigh than the cheese?

17
b) Jﬂdl-uiﬁ

How many kilograms of carrots does he hove left?

kg of carrots.

©) Jock uses all the cheese and the same amount of pototoes.
How much do the leftover potatoes weigh?

Eva is doing the long jump.

5 Bs:

rain
Book
Boart

Budd

Boss

Onhefmat\emmiums%m. Extension G'Ctl-‘flt\lj

Her 2nd attempt is 2 m shorter than her first.

3 Place 2, 3 and 4 in the boxes to make

How far does Eva jump on her 2nd attempt? the calculation correct.

1 O
276 k=

6

3 chile

They
follow

Dora

Alex




Extension a,cti,vity :

Place 2, 3 and 4 in the boxes to make
the calculation correct.

1
27 = = T =26?

3 children are working out 6% — é

They partition the mixed number in the
following ways to help them.

2 5
Dora 5+1§_E
4 5
Alex 5+16_6
10 5
Jack 5+?—g

Are they all correct?
Which method do you prefer?
Explain why.




Tommy has 4 3 litres of juice.

7

He drinks 8 of alitre.

-
[ He has 3% litres left. J




f1rue or False ? Subtraction - breaking the whole

True

| 12
4 5 can be partitioned into 3 + 3
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